MTH 265, Quiz #12, Summer 2021 Name

Instructions: Show all work. Use exact answers unless specifically asked to round. Be sure to complete
all parts of each question.

1. Use Stokes’ Theorem to find the value of the line integral [ F-di = J [ (Vx F): Nds for

F(x, y,z) = zi + yj + xk around the curve of the intersection of g(x,y,z) = 4 — x? — y? and
the plane z=1.

2. Find the implicit partial derivative g—i for the implicit function xIny — x%2z + e¥? = 0

. . . s a a .
3. Use the chain rule to find the partial derivatives a—‘f and a—‘: forw = xyz — ysinx — Inz where
x=t—s,y=t?%z=se’.



